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River crossing problem

A farmer must transport a fox, a goose, and some grain across a river.
He/She has a boat which can only carry him/her and one other thing.
If the farmer is not present, the fox will eat the goose. If the goose and
the grain are left together alone, the goose will eat the grain.

Help the farmer cross the river. How can she/he transport everything across the river? How
many trips will it take?

Cut out the items below. Try to put them in the boat and bring them across the river in turn,
If you have two items that shouldn't be left together you can simply start again. It is ok to try
different moves at random but if you are not making progress, you need to reflect on what
you are doing that is not working. Make sure to try a different way the next time.
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